A2

There are two on a soccer team.
Answer:

The team has three . (substitute players)
Answer:

He has five for swimming.

Answer:

We need six for the basketball game.
Answer:

My friend collects baseball

Answer:

She has ten for running.

Answer:

The team has eight for volleyball.
Answer:

| bought two for tennis.

Answer:

They have seven for gymnastics.
Answer:

He has four for cycling.

Answer:




Answers

There are two on a soccer team.

Answer: players

The team has three . (substitute players)
Answer: substitutes

He has five for swimming.

Answer: medals

We need six for the basketball game.

Answer: players

My friend collects baseball
Answer: cards

She has ten for running.
Answer: shoes

The team has eight for volleyball.

Answer: players

| bought two for tennis.
Answer: rackets

They have seven for gymnastics.
Answer: mats

He has four for cycling.
Answer: bikes



